C-CAT

Section B

17 December 2017

#include<stdio h>
struct XYZ
{

int a;

struct XYZ *next,

int main()

{
struct XYZ temp;
temp.a = 10;
temp.next = NULL;
return 0;

A 10

B: Garbage value

C: Compile time error
D: Runtime error

A UB C D Clear Answer | | Mark For Review |

| @ No. 1. Whatis the output of the following C program?

| 0 Runtime aror

_aAQEQQ'dD Cimar Answer | | Matk For Revien

Q. No. 2. What is the problem with the following C program code?

Q. No. 2 Whatis the probler wih the folowing € program code?

#inchude<sidio h>
#inchude <sidi b
int main{)
{
int *p = {int "jmaliacisizeol(int));
int "g=p,

free(p);
“g=10;
return(0)

A; Results in dangling pointar
@ Compila tme error

C: Results in memory leak
D Runtime error

TAGBOC O D [Casr Answer | | ManFar Revien |

&7

Q. No, 3, What is he output of the following C program?
Hincluda<sidio.h>
;wlﬁh‘l. inl *y)

yox
y=3

1]
ina=1b=2
int main{}

{

DADBOCS D | Clesr Ansever | | Mark For Review |

Q. No. 3. What is the output of the following C program?
#includecsidio. >
woid gfint *x, inl "y)
{

¥
=3

nta=1b=2
';'Imh'(l

pika, &by
PrNt("%d %4 0", a, bj,
ratum 0;

' b

somr
MW
-

SATBEC D |Clear Answer ri For Revien

Q. No. 4. What is the output of the following program ?
Hinclude <stdio h>
int mainf)

Fxaminabon Instmrtion Twnlnad Recnmss Shast
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Q. Mo, 4. What Is the output of the following program’?
Hinclude <stdio h>
int main(}
{
it x;
fo=1)
print(* Good *);
slse

prnti* Bad");
retumn{O};
}

A Unpredictabla resll a5 x i nol infiated
B Alvays pints Good
C: Complle tme ermor
D: Atways prints Bad

SARBOCOD | ClearAnener | | Mark For Ravisw

Q. Na. 5. Whatis the sulput of the follewing C program?
#include <sidio h>
#defina a 10
il main()

{
printi* " av=2);
}

A 10

B 12

C: Compile fima error
N Rurstioma e

Resoonse Sheet

GA®BECOD | ClearAnswer | | MakFor Review

L3

Q. No, 5. What is the output of the following C program?
#include <stdio.n>
#define a 10
int main()

{
printi("%d" av=2);
}

A 10

B: 12

C Comple time afror
D: Runtime error

Q. No, 8. What ls the output of the following C program?

Winchude <sidio h>
#define x2+3
#dofing y 1+2

int main()

{
printi(*%d" 1"y}
}

owr
D\la

0. No. 6 Whatis the autput of the foliowing C program?

Minchude <stdio b
Mdefine x 243
#dafne y 102
it main()

{
Pt S X7yl
I

o

A
B
=
o

g
8
Compile time arror

SARBOCED [ Madk Far

Q.MNo. 7. Consider the following € program snippet

foat data:
actern float adatas.
‘Which one of tha foliowing is comect?

A Both the above statements declare variables
B: Both the above stalements define variables
C: First statement declares data and second stalement defines edata
D' First statement dafines data and second stalement deciares edata

O AGBOC O D [CearAnewer | [MakFor Ravaw
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Q. No. 7. Consider the following C pragram snippet:

Toat data;
axtern float edata;
Which one of the following |s cormect?

A Both the above statements dacian vanables

B: Both the above statements define varables

C: First statemant declares dala and second stalement defines edata
D Firat statement defines data and second statemant declires edatm

SATCBDC ® D | Ciar Answer | | M ForRedew |

Q. No. 8. What is the oulput of the following € code smppet?

Int x=1 y=12,
x| oy}
PNy h

A 13
B 1
C: 12
D: Compile §ms efror

TARBOC

O D | Comar Anawer | | Mark Fot Ravisn

Q.Mo. 11, Whatis the output of the following C code snippet?
it 23)={{1).12.1 O3
printf{™%hdn”.x{ 1)[01);

O A®BEC D | Clear Anewat | | Mask For Bavien

Q. No. 11, What Is the oulput of the following C code snippet?
It XZE3)={11.12,1.0):
Pt Ndin" 1[0}

L]
2
48 |

oo®»>

Garbage value

TAWE

C oD |Cuar | | Mark For Raview

Q. No. 12, Whal is the output of e foliowing C code snippet?
int @
a=ziw

CARBW®

C = D | Chear Answer | | Mark For Review.

I

Q: No. 13, In C language. break statemant cannot be used with

A
B whike
[

=5z
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I Q. Mo, 13, In C language. broak statement cannot be used with

A for
B while
{1 §
D: swich

D ATB®C T D | CharAnswe | | Mark For Review:

Q. No. 14, What iss the oulput of the following C program snippet?
int i=0x10+010+20;

Q. No. 15, What is the output of the following C code snippet?
#inchce <sidio h>
&55 int main{)
{
int x=0.y=1;
x=xty

DAUB®C DD | Cless Answer | | MarkcFor Revien |

= Q, No. 18, What is the cutput of e following C code snipper?
= #ndiude <stdio h>

- :"“!lﬂﬂ

= int e=0.y=1;

— =y

Yy
= printf(™%d %d” )
=il rolum(D),
= J
= AD1
B B 10

= c11
D00

GA®BOC T D | CmarAnswer | | Mark For Review

[ @ No 16 Which of the following is not & function of stack?

A Function cal

B: Infix to postfix conversion
G Balanding symbols

D: Searching

_Onuaigf._fﬁ i Arower | | Mok For Revien

[ Q. No.17. inonder vaversal of

leads 1o sorled list of slements as outpu!

[FATBUC® D [Clear Answer | [ Mack For Ravien

' 0. No.17. Inorder traversal of

A Binary trea

leads 10 sored kSt of Memants AS culpul

[CACBOCH D | Ciear Anoner | | Mank For Revien
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Q. No.20. What data structure is used for breadth first traversal of a graph™?

FATBYCCD | Chearhisw | | MakFor Raview
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STsamU T

[ Q. No.21. Height balanced binary search tree is

A AVL tree

B: Redblack tree
C; Lamma tree
D: Binary lree

SATBYCOD | CiearAnswer | | Mark For Raview

0. No.22_ Binding of data members and member unctions into a single unit is catled
a5

GAUB®C 0D |Cear 7 | | Bark For Review

[ @ Moz Keywords are of tha programming language |

Esamiation isicaction. Desulosd B Shect

Q. No.22. Binding of data members and member functions into a single unit is called
as

)

eritance

i

SASE®COD | Claar Arawer | | Mak For Review | t&

| @ nez ey are of the programming languag

A
-3

i

C: Reserved words
D: Literals

GA OB ®CEOD [Clearanswer | [ Man For Review |

| Q. No.24. Members of C++ class are by defaull

A private
B public
Ci protected
D: shared

Q. No.24. Members of C++ class are by default

A: private
8 public
C: protected
D: shared

FAOBOCOD | ClearAnswer | | Unbars |

Q. No.25. f Triangle class is derived from Shape class, which one of the following is
appropriate way of defining constructor in Triangle class

A: Trangle(int a int b):Shape(a) {

8: Shape(nt ant b Trangie(a) { ..
C: Triangla(int a), Shape(int b) {
D. Shape(int a), Triangle(int b) { ...

®A OB ECYD | Clear Answer | | Mark For Review |

Q. No.26. Which one of the g ope cannot be inCee?
At ke
B
C: >»
D: >
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[ Q. No.26. Which one af the following operator cannot be overioaded in C++? |
e
;>

. W

cop>

Q. No.27. Creale a class lilled Triangle with mnmmm.udmwmm

GASBGCED Cimar answer | | Mam For Resiew |
and height The Triangle class contains a public non-static function named
[é calculates area of friangle and dispiays the sama, Which one of the following

D! Triangle "l tpircisplayArea);

OACEUC O D [Chear Answer | | Man For Raview |

l @ No.28. Which one of the lollowing precisely defines an exception? |

[ A: Run time emor |
B: Comoile fime error RS

I Q. Na 28 Which one of the isely defines an jon? I

A: Run time ermor

B: Compiie time error
€: Memory error

D: VO error

|#A 0B 0 CO D Casranswer || Mk For Review |

Q. No.29. Inline functions are preferred when I

A: Function is small and want to avoid function call overhead
B: Function is complex with many nested loops

C: Funclion has many stalic variables

D: Function is recursive

®A DB ©COD | CracAnsaer | | Mark For Review |

Q. No.30. What Is the output of the following C++ code?
#nclude<iosiream>

using namespace std;

class PC {

l P
; void print() { cout <<* Inside PC*; }

rlase A« ruiblin B £

L3

Q. No.30, What is the outpul of the following C++ code?
#include<iostream>

using namespace sid;

class PC {

public:

void prnt() { cout <<* Inside PC", }
class QC : public PC {

void print(} { cout << Inside QC"; }
¥

class RCi public QC {1

int main{void)

(

RC robj;

robj.pant();

retum 0,

}

A Inside PC

B Inside QC

C: Compile time arror
D: Inside PC Inside QC

®ACB UCO D [ Cear nswer | [ Mark For Review |

Q. Ne.31, s derived by using Insert_end() and Delete_first()
functions in a single linked list -
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#A OB OCOD |ciearanswer | | Mark For Review | =
Q. No.31. is derived by using Insert_end() and Delete_first{)
functions In & single linked list
A Stack
B: Queue
Q No.32. protocol finds the MAC address of a host from its known IP

D; Tree

CACB®COD | CearAnswer | | Mark For Review |

C: Dqueue
address.

copy
8838

FA DB OCOD [Cwar Answar | | Mark For Review |

I Q. No.33. The multiple access method used in GSM cellular technology |

D\? [ A FDMA & COMA |
R CMALA R T

1

f D: IGMP I -

®A OB 0 C O D | ClasrAnswar | | Mark ForSaview |

| Q. No.33. The mulliple access method used in GSM cellar technology |

A FDMA & COMA
B COMA & TOMA
C: FDMA & TDMA
D: COMA & CSMA

CACOB®CE D | Clearanswer | | Mark For Review

Q. No.34. In a data communications system, the i ta ba d s
the ;

Medium
Protocol
Message

D: Transmission

TAGB®COD | Chear Answer | | Mark ForReview |

Q. No.35, If the least significant bit of the first byte is 1, the Ethernet address is |

3

CATB®COD | Ciear Answer | | Mark For Review |

Q. No.34, In a data communications system, the inft o be is
the s
A Medium
B: Prolocol
C: Message
D: Transmission
DA DB A C 0D [Clear Answer | | Mark For Review |
Q. No.35, If the least significant bit of the first byte is 1, the Ethernet address is

L} A mullicast
B broadcast
C- unicast
D: geocast

@A ®B0C 0D [ cwaranswer | [ MarcFor Raview |

QNo36 __ s the combination of an IP address and a port number in
networking.

l A transport address I

4



C-CAT

Section B

P

17 December 2017

0. No.37. The error detection method which uses one’s complement arithmetic |s

@ >

Checksum
CRC

C: Simple parity check
D: Two-dimensional parity check

SATE 0G0 D [Gasrim] (U]

Q. No.38. The inter frame space, contention window, and acknowledgments are
used in which access method to avold collisions

A CSMA/CD
B FDMA
C: CSMAICA
D: TDMA

GA DB 8C O D [CrearAnswer | [ Mark For Review |
by

Q. No.38. How many bits is the physical address used by Ethernat? |

A 32bit
B 48-bit
1 Aann

Q. No.39. How many bits is the physical address used by Ethernet? |

A 32-bit
B: 48-bit
C: B4-bit
D: 128-blt

GANB 9C 0D | Clear Answer | | Mark For Review |

Q. No.40. The headers are when the data packet s forwarded from the
upper (o the lower ayers.

OAORSCOD (el [Nairerioie]

Q. No.41. A central controlier of hub is required in whigh type of tapoiogy?

A Mesh
B: Bus
C: Star
D: Ring

A DB ®C 0D [ ClearAnswer | | Mark For Besiew

l

Q. No.41. A central controlier or hub s required in which type of topology?

i

GA__UEE_L"_' D Eiuhﬂnsnl'.:_ Mark For Review

Q. No.42. Process s I

A: program in High level language kept on disk

D: a job in secondary memory b

@A UB % C O D [CiearAnswer | | Mark ForReview |

Q. No.43. Which of the describes the ability of an OS lo support multiple,
concurrent paths of execution within & single process?

A Multithreading
B: Multiprocessing
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Q. No.4d, Which of the following describes the ability of an OS to support multiple,
concurrent paths of execution within a single process?

A Multithreading

B: Multiprocessing
C: Multitasking

D: Multiprogramming

©ACB = C 0D [ClearAnswer | [ MarkFor Review |

Q. No.44, What is nat shared by threads? I

A Code
8 Data
C: Files
D: Registers

CATDBOCO D | CharAnswer | | Mark For Review |

| Q No45. High page faults leads to - !}o I

UATB ®C U D | CiearAnswer | | Mark For Review |

a
-

I Q. No 44 What is not shared by threads? I

A Code
B: Data
C: Files
D: Registers

SA®B O C O D | ClaarAnswer | | Mack For Review |

Q. No.45. High page fauls leads 1o -

A Swapping
B: Compaction Q
C: Thrashing

D: External Fragmentation

SACB®CO D [ Clear Answer | [Mark For Review |

| @ No4s whatis compaction? |
A A que for ing intemal fragy
B: A paging technique
C- A que for ing external fragy
D: A wechnique for overcoming fatal emor
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B: Compaction -

C: Thrashing

D: External Fragmentation
OA OB ®CO D [CearArewar | | MarkForReview |

| @ Noas. whatis compaction? |

A Atech for intemal fri
B: A paging technique

C: A que for ove g external fragr
D: A techniqua for overcoming fatal ermor

OATE ®CUD [Claarinewer | [ MakForReview |

| @ Noa7. shortterm schecuier s aiso known as

A: cpu scheduler

®ACBOCOD | SearAnswar | | Mark For Review |

| @ No4s Find the wrong stalement sbout multievel queue scheduling | i

I A Bamdis mimiam o nmstlilnmmd b snmmsmbn s o I

| D: Scheduling must be done between the queues | -

iUAUBQCUD|E¥HM||M_FuRW|

| @ No.a9. Accessing speed is higher for |

A: Solid-state disks
B: Main memory
| C: Cache
D: Registers
|
[©A ®B ©C 0D | cear Answer | | Mark For Review |

I | Q. No.50. Virtual memory is

extremely large main memory

: extremely large secondary memory
fllusion of extremely large memory

: a type of memory used in super computers

cow>»

|©A OB #C © D[ Clear Answer | [ Mark For Review |

N

10
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